uboooboobooooobooon

p-8 19] p(A~ 1y, "Ag) == p(A~ 1y, "An)

p.12 113] p(€ + t0) = p(& + 1) =0

p.24 11 A(A1, .., Am) = A2(A1,..., Am)

—Ae(n, 0) = —Ar(&n)

—Ae(n,0) < =Ai(§,0)/Crlnl = —A(&,m) < =Ai(§,0)/Ciln]
k(€,0) < CrlnlAe(n,0) = Ar(§,0) < Crln|Ae(&;n)
P46 L 5] [Ae(&;0)] < CrlnlAk(n, 0)] = [Ae(&,0)| < CrlnlAk(€,m)|
P50 111 P =Y (@)D = P =3, ., aa(a) D

[p.50 1] (27)~" [ = (2m)~2" [

p.51 J1] 2m) ™ [ = (2m) 2" [

P62 14 5=5+2=—5=s+1

[p-83 L 14] [1 lfw(t, Mie—nydt < C [2_ llglle—ydt
— [t Merdt < C f* llgle-rdt

]
p.46 |1]
p.46 2]
] A
|

[
[
[
[
[
[p.46 |4
[
[

[p.86 0 0] 337 — 393 = 377 — 393

[p-89 4] dp.o(z,§) > 0= p.0(0,0)dp.o(z,§) >0
[p-89 5] aHy(2") = ap.o(0,0)H,(2°)

[0.89 1 10] AjH,y(z;) = A;p.0(0,0)H,(z))

[

p.89 114] A\jdp., (V) = o(Y, N Hy(2;)) > 0 —>
)\jpzj (07 G)dpzj (Y) = J(K )\jpzj (07 Q)HP(ZJ)) >0

[p.90 $11] ()==(i) 0000= 00 A=A, C=C,, ' =I,00000
0000 ()=(i)000o

[p.95 16] V2 =2

[p.96 |15] V2 = 2

[p-99 112,13] (6.4.22) 00 {bj(z,£) =0} 0000 = (6.4.21) 00
[p-99 112] Ker F,(2°) = Ker F,(p)

[p.111 2] Q(Fv, F?v) = Q(v, F?v)



[p.111 }4] o(v + tF?w, Fv + tF3v) = o(v + tF?v, Fv + tF3v)
[p.111 6] o(w, FPw) = 1 = o(w, F3w) = -1

[p.111 18] uy = —V2F3%w = uy = —F3w, v = (w— F?w)/V2 = v, =
w— F2w

[p.142 15] (9.3.13) 0 = (9.3.13) 0 O

[p.142 13| 0000000. = 0000

[p-143 113] 1/C < ¢(2,£)/d(y,n) + (,£)/2(y,
= 1/C < 6(x,8)/p(y,m), ®(x,8)/

o(x,8) | O(x,§)
¢(y,n¢))(+ g@@:g
— ¢(y:77) q’(y:n)

[p.147 1 6] g,(w—2) <0000 = gy(w—2)<c0D000

n) <C
(y,m) <C

[p.143 18] (1+ @z, 9|z — y| + ¢(x,8)[¢ —n)™

< C(L+2(y,n)|z —yl+ oy, )€ —n))N

+

[p.147 17 g2(w —2) > 000 = gp(w—2)>c000

[p.147 18] §u(T) < Cg-(T)(1 + g2 (w — 2))¥
= §u(T) < Cg(T)(1 + g7 (w — 2))¥

[p-147 1 9] g.(w —2) > c00 -+ g7 (w — 2) < O (w — z)?

= gu(w—2)>c00 - g5 (w—2) < Oy (w — 2)°
[p.160 16] xTv = (1+7Nn)Pouy = xTv = (L4 rn)h2uyu
[p-182 | 2] Hp(2) = pm—2(2)Hp, (2) = Fp(£) = pm—2(2)Fp,(2)
[p.210 17) TM#TM =1 - R— T-M#TM —1_R
[p.210 14] Kyy = T M#R — Ky = R#TM
[p.210 12] T-M#4PHTM — K\ #P#TM
[p-210 110] T~ M#PHTM — K #P#HTM
21147 (~)PIT M1 = (<) 8 K #1

[p212 |8 (=10000 = ¢=10000 R—1€ S(M>*~1\"1, g)000
00

[p-213 [ 6] T~ MA(E) S WH Py H(EVPHTM = Knr#(€); “PH# Py #(6) 2P #TM
[p.213 [10] T~ M#PHTM — Ky #PHTM
[p.213 16] T~ M#PHTM — Ky #P#HTM



[0.216 | 3] T~ M#PHTM — Ky #PH#HTM

[p.216 | 6] p(z; Hy) = Ky#P#HTM

[p-216 T11] TMH(E) T PH P H(E)SPH#TM = Knr#(€)5 P H# Py # ()2 #T
[0.222 113] T~ M#PHTM — Ky #PHTM

[p.225 11] S(/m1,91)0000. = S(y/m1,91) 000 Sgﬂ g S((wml)il,gl)
goooo

[p226 14| 00000. = 00000000 S,00000000000 pe

SU€)2 ™ma, 1) O p(z + iHy) — p(z) € S(wymi,g) 000000000S;!

0000000 13.1.5000000 $00000000000000

[p.230 17) 00 13.3.3= 00 13.3.4

0232 13] T-MOp({£)5%) P,cOp((€)2°) = KarOp((€)5) PycOp({£)%7)
p-236 15| (*=(a+b)& = =a+b

[p-236 16,7 & =M A >0000 7T>0000 = A>00007>0000



